Assembly Instructions - Wall Cabinet With Two Doors

ASSEMBLY INSTRUCTIONS - IMPORTANT
Carefulty unpack & identify each component before atlempting to assemble. Refer to parts list. Please take care
when assembling the unit and always set the parts on a ciean soft surface. If you require any assistance with
assembly,pants,please call 866-331-4207.

INSTRUCCIONES PARA ARMAR - IMPORTANTE :

Desempaque cuidadosamente e identifique cada
componente antes de tratar de empezar su
ensambladura.Verifique la lista de partes. Por favor J
tenga cuidado cuando arme la unidad y siempre coloqu
tas piezas sobre una superficie plana. suave y limpia. Si
necesita ayuda con el armado, por favor llamada
866-931-4207.

DIRECTIVES DE MONTAGE-IMPORTANT:

Avant de commencer |' assemblage deballez
déticatement toutes les piéces et reperez-les sur la liste]
des piéces. Procédez avec soins durant I' assemblage
et posez toujours les piéces sur une surface propre,
douce et lisse. Si vous avez besoin d' aide cocernant

I'assemblage Svp appel 866-931-4207.

A.

Top Shelf
Estante Superior
Etagére Supérieure

Bottom Shelf
Estante Inferior
Etagere Inférieure

Side Panel - Left
Panel Lateral - 1zquierdo

Panneau Laterale - Gauche

Side Panel - Right
Panel Lateral - Derecho
Panneau Laterale - Droite

Adjustable Shelf

Estante Ajustable
Etagére Réglable

Left Door
Puerta lzquierda
Porte Gauche

Right Door
Puerta A La Derecha
Porte Droite

Upper Front Rail
Carrit Delantero Superior
Rail Avant Supérieure

Lower Front Rail

Baje EI Carril Delantero
Abaissez Le Rail Avant

Real Panel
Panel Trasero
Panneau Ammiere

1PC

1PC

1 PC

1PC

1PC

1PC

1PC

1 PC

1PC

1PC

Ak E—————— )

& T )
- > 7

~Pg1ofg




(1).

(3)-

(4).

(5).

(6).

(7).

(8).

(9).

(10).

(11).

(12).

(13).

Cam Lock

Cerradura De Leva
Serrure De Came

Cam Bolt
Perno De Leva

Boulon De Came

Cam Lock Cover

Tapa Para Cerradura
Couverture Pour Serrure

Wooden Dowel

Clavija De Madera

Goujon En Bois

Phillips Screw (®3*10 mm)

Tornillo De Cruz
Vis Cruciforme
Magnet

Iman

Aimant

Knob
Perilla
Bouton

Phillips Screw (@ 3*12 mm)

Tornillo De Cruz
Vis Cruciforme

Shelf Pin

Permo De Estante
Agrafe D' étagére

Phillips Bolt (@ 5/32"*5/8")

Perno De Cruz

Boulon Cruciforme

Anchor
Ancla
Ancre

Phillips Screw (®4*38 mm)

Tornillo De Cruz
Vis Cruciforme
Glue

Pegamento
Colle

4 PCS

4 PCS

4 PCS

10 PCS

8 PCS

1PC

2 PCS

14 PCS

4 PCS

2 PCS

2 PCS

6 PCS

1PC

STEP 1

ETAPE 1
PASO 1

( Fill dowel hole half way with glue.Dowel may push out excess glue-wipe off excess glue )
( Llene mitad del agujero de clavija con pegamento.Clavija eliminara el exceso-limpie exceso }
{ Remplissez demi de trou de goujon avec colle.Goujon éliminera la colle excessive-nettoyez |'excessif )

Pg2of 0




STEP 2

STEP 3
ETAPE 2 ETAPE 3
PASO 2 PASO 3

(Fill dowel hole half way with glue.Dowel may push out excess glue-wipe off excess glue )
{ Liene mitad del agujero de clavija con pegamento.Clavija eliminara el exceso-limpie exceso )
( Remplissez demi de trou de goujon avec colle.Goujon éliminera la colle excessive-nettoyez l'excessif )

( Fill dowel hole half way with glue.Dowel may push out excess glue-wipe off excess glue )
{ Llene mitad del agujero de clavija con pegamento.Clavija eliminara el exceso-limpie exceso )
( Remplissez demi de trou de goujon avec colle.Goujon éliminera la colle excessive-nettoyez |'excessif )

Pg3of9




640 t Bd

( J1ssaoxa,| Zako)aU-3AISSaIXA BJ|0D | BJaUILNIR UolNOS) 8|00 2aA. Uoinob ap noy ap wwiap zasslidway )
( 0s22xa aidwi|-0s32xX3 |9 eteulw|d efirei) ojuswebad uoo efiae)d ap osalnbe Jap pejw sus| )
( an|6 ssaoxa Yo adm-an|B ssaoxa 1no ysnd Aew [emoq an|b yim Aem ey ajoy jamop |itd )

S OSvd
G 3dv13

G d431S

( }1ss90%3,] ZaAOPBU-aAISS3IX 9|00 B| BJaUIWI@ UonNOS) 3|j02 2aAe uonob ap noJ} ap |wWap zassldway )
( osaoxa aidwij-0saox9 |9 eleulwlie efiae() cjuswebad uod efiae[d ap osalnbe [op peyw aua|y )
( an|b ssaoxa Jjo adim-an|b ssaaxa no ysnd Aew [pmo-an|b yum Aem jjey ajoy |amop |[14 )

AHV ¥ OSVd

¥ 3dv13
¥ 431S




STEP 6

ETAPE 6
PASO 6

STEP 7

ETAPE 7
PASO 7

Note: Do not over drill.Power tools
Not recommended.

Nota: Demasiado. No se recomienda
el herramientas eléctricas.

Note: Ne percez pas trop. Outils
électriques non recommande.

= |

C®

(@

( Fill dowel hole half way with glue.Dowel may push out excess glue-wipe off excess glue )
{ Llene mitad del agujero de clavija con pegamento.Clavija eliminara el exceso-limpie exceso )
{ Remplissez demi de trou de goujon avec colle.Goujon éliminera la colle excessive-nettoyez I'excessif )

Pg5of9




6109 Bd

2)\\\\\\\
5)\\\\\\\

6 OSvd
6 3dv13

6 431S

‘uy e| anbsio} 3INLBS JN0d BINUBANGY) 8] 28J3SU|
"JBeUULd) [e eINpEL)) eied ede] Jeuasu|
‘ysiuy usym des) »207 weo) Hasuy

-anbojq g,nbsnl no sg.bap og| e
sajjinbie sap Suas 8] SUBP SIABWING] I3AB SIINLISS
s8[ zassIA sanbuldals sino,p sed zasinN 310N
‘epejasde 9159 ejsey
0 eydasap ej e sopeib 0g| elanA‘sesnpeus) e|
1e1189 eled Sedu)d9|s Sejusiwensay |8 aaln oN
ybn s1 )t Iun 1o saaubap og|L asIMYI0D

BJON

3007 WeD Wn} "S|00) J8MO4 8SN 10U 0 :8JON

8 OSVd
8 3dv13
8 431S




610/ Bd

0l OSvd
0L 3dv13

0l 431S

Ll OSYd
Ll 3dV13
Ll d31S




6J0 8 Bd

‘8JJUB,| Za||eJSUl }@ aJouUe,p SNAl} $8| Zalopad
‘leyuozuoy 1sa ,nb snoa-zainsse 18 isap ap JloJpua,) Jns Juswaubije p Jaided a| zade|d
"INW ap jauiqed 3| Ja||eisul e Japle snoa unod juswaubije,p Jaided ap apueq ej SUOSSILINO) SNON

‘BloUR (9 8jejsul 8 ejoue |ap sosainbe

SO| aipe[eja.d “|ejuozuoy sa anb ap asainbase A opeasap Jebnf |a us ugioeaulje ap |aded j8 anbojod
‘pased ap ajauiqed |8 Jejejsul e apepnie eied ugisesuile el ap jaded ap el e| soweuoidiodoid

*JOYJUE [[B}SUI PUB'SSI0Y JOYDUE [|Up-8id "[BJUOZLIOY SI }i 8JNS 3%Bu pUB UONED0] 8JISap 3y} uo Jadeyq
Juswubily a2eld ‘[|lem au) U JauIgeD ({BAA @) ([eIsut 0f noA diay o) duig Jaded Juswubipy apiaoid apa

€l Osvd
€l ddvl3
€l 4318

¢l OSsvd
¢l 3dvi3l

¢l d31s







